—iBEAUS R

3

g sz

®

OO(’\DJ>

L
4B R V3

O

@
®

(@) =

=

5 &

- =@~

O ) -

N N N

— AV SR REM—FT ALK
Al el 2 0
B2 w57 1
A2 BmRkY37B 2
B1 BRI ITA 1 2
—MRAUSR BB Afib—F A R
A3 BERIXE 2 )
B4 RBXF !
Ab ALUDHST 2
B3 = VP 0 0
—f§CHO SR
REY—Y

ATOvY 20 | 21 | 22 | 28 | 24 | m= iz
204 LSy 35T @G| 1|/ 2
2 ® & 4 3 |0 o | 1| o]/ 5
2# B v 3 I 10 @ 1| 7 3
2% Kk 4 3 I o (2] 1|/ 4
v 72 7 Y OI®|@|® / 1




— B S X

FEY—Y
AJOvY g sz
% B 4 5 7 / 2
0WALYSs5TcC / 3
nm & 2 5 J / 4
2E kK 9 35 I / 1
BIOvY B sz
3 ®m 4 35 / 1
MWALYSH 5D / 3
5% B 2 3 / 2
cravy [ sz
6% B 4 5 / 1
7% &# 5 5 / 3
8% ® 4 5 / 2
198 B 8 I X / 4
— MBI IR REE—F AL FE
Al BRY ST 2 0
c3 REY 5T 2
B2 BEYST 0 0
B1  &my57 ‘ . e
A2 wRY 5T 9
ci =Rk 9
—fEBYU SR 3 Afib—F A B
A3 FLUSHS5TB ‘
c4  MERIAF 2
B3 ALVEHS5TA 1 2
AL REHST ‘ e
c3 XHIST




ZFAY SR

FEY—Y

AJRvY 353
25 M B i oK% A 3
26 4 B 4 3 T 1
2178 44 3 J B 2

BJAvY =43
28 4 3 7T A 3
29 % 9 2 7 1
0 B M B M K% B 2
TFDE R b—F A2 MEL
Al L&y 57 ‘
A3 BERIAFA 2
B2 HEERIAFE 0 2
A2 Bs3>7B 2 :
B3 EY5JA 0
B1 £y>57 9

X¥BI SR
R —5
B (=33

31 # v 3 7 / 1
R ALy 53T / 2
BE B 4 5 T / 5
34 K 9 2 7 / 3
B, T B YV F T / 4




